4.6] Random Samples
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If the probability doesn't make sense for the situation,
then itisn't a good model. The model is not
representative of what occurs in practice.




EMPIRICAL CDF

DEF: — Suppose we have a RS from z,--- ,z,
— T1,To, -+ , T, 18 a RS of size n

11 2}( ) LY TR — Let y; < yy < --- < y,, be the ordered
—x; ~ f(z :

. values of the data.

— W = number of variables z; < x

— W counts the number of successes in n indep —The empirical CDF based on this data is:

Bernoulli trials W ~ BIN(n, F(z)) 0, z<u
— Relative frequency of successes on n indep. trials Fo(z) =<Si/n, ¥ <z <yn
W | Yo S &
— Fale) = — ’
n

— F,, is referred to as the “empirical CDF”
— F,(z) should be close to F(z) for large n.




Empirical CDF is a step
function which
approximates the CDF
(a flattened S-curve)
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height of the bars be

scaled by the length of
(‘{OD,W] the current interval.

(height = (yj/n)/length)
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Histogram or
("Empirical pdf")
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